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(20%) 1. Determine the length of the curve given by the graph of y = j(;)}i%(s

between a = % and b = 2% and partition size n=8.
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(20%) 2. Suppose that a quantity X is normally distributed with mean 3 and standard

deviation 2. Find the fraction of the population that falls into the intervals:
10%(1)P(X=[2, S]) 5%(2)P(X<2) 3%(3) P(X>5)

(20%) 3. A screening test for a disease show a positive test result in 90% of all cases

when the disease is actually present and in 15% of all cases when it is not.
Assume that the prevalence of the disease is 1 in 100. If the test is

administered to a randomly chosen individual, what is the probability that
the result if negative?

(20%) 4. Assume a 1:1 sex ratio. A woman who is a carrier of hemophilia has four
children with a man who is not hemophilic. What is the probability that she

has one daughter who is not a carrier, one daughter who is a carrier, one son
who is, and one son who is not hemophilic?

(20%) 5. A class of 28 people collected the following data, which represents their
heights x and arm spans y (rounded to nearest inch).
(60,61),(65,65),(68,67), (72,73), (61,62), (63,63), (70,71), (75,74), (71,72),
(62,60), (65,65), (66,68), (62,62), (72,73), (70,70), (69,68), (69,70), (60,61),
(63,63), (64,64), (71,71), (68,67), (69,70), (70,72), (65,65), (64,63), (71,70),
(67,67)
Find a linear model to represent these data and estimate the error.
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